Ve AL RN
Y I SR A B SR e e

2019 49 B
SERUSERT

g_'g

MoK

HPNIERR I - R
BLER o

,
B

FESRPERURDC - WA seR VU EE (R - BI%E

BL 52

. 55
A 5 A5 e B B R A
BHYERTEEYS - DURESE - a0 R e E A Ty
EHH
{EVEAE ~ AF ~ BEFIBF - %1 [:ﬁﬁ;%lél’\]@%%ﬁii’ﬂé?U%{%Eﬁﬁfiﬁﬁfﬂﬁbiﬂ\U*%E{%%z » HEOREY

. ERIEEGEL
75 e PR RS HAE I 5 22 S R A e

K
Wige 4 iIE AT E TR -
o (AR R B SR I TR RN S A B
BT = BLAb » ST B E BT 5 R A4 R B S B IR TR

K
A%
HSHHENR > (FEHEE L5 EE(LE -
20194F9H » =({EE{LIEAF ~ BERIBFESfEREE T -
SRR R PR TR SEEY MR o FrAdHiECsk Al b ag n Ehapr iR (A B
> FrA BRI RAE Y B S 4SRRGSR B SR e E TR

SR AERRATC B RAR e A R A% EE

[REAVEHRISE -



Ve AL RN

EFRAS R RS
20194 9 H
YK AF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(A 2.277 0.003 - 0.024 0.005 &
LA 1.512 0.000 - 0.602 0.069 =
/L4, (HCI) 4,545 0.037 - 0.182 0.129 =
mIbE (HF) 0.306 0.009 - 0.056 0.027 s
— &b (SO2) 15.147 0.010 - 7.635 2.405 =
—4& kbR (CO) 7.578 0.000 - 0.166 0.013 =
HELY (NOx)
PL—&/EE (NO2) 30.303 0.275 - 9.656 1.580 =
s E
(b) [FFEEH - HI9ME (HEEHRENRGRER)
(A 0.756 0.004 - 0.007 0.005 &
LA 0.756 0.031-0.112 0.069 =
Z/LE (HCI) 0.756 0.114 - 0.154 0.129 s
wAbE (HF) 0.072 0.020 - 0.032 0.027 s
— &b (SO2) 3.789 2.273-2.520 2.404 =
—&Ei% (CO) 3.789 0.002 - 0.033 0.013 =
HAY (NOx)
DL E/EE (NOY) 15.147 0.938 - 2.882 1.594 =
ETE
28 HERRE® BEa=st R R
(kg/hr) (kg/hr) =ED)
() FREHN (HET{LEFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
B EEE® 0.0378 <0.0055 e
IR R g ) 7.575x 10°° <6.227 x 1020 &
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EFRAS R RS
20194 9 H
Y& BE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(A 2.277 0.001 - 0.280 0.003 &
LA 1.512 0.010 - 0.626 0.092 =
(L& (HCI) 4,545 0.023 - 0.130 0.082 =
mIbE (HF) 0.306 0.000 - 0.071 0.032 s
— &b (SO2) 15.147 0.259 - 4.966 2.043 =
—4&bi% (CO) 7.578 0.000 - 0.130 0.059 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.734 - 6.892 2.121 =
s E
(b) [FFEEH - HI9ME (HEEHRENRGRER)
(A 0.756 0.002 - 0.032 0.003 &
LA 0.756 0.028 - 0.177 0.092 =
#F/bE (HCI) 0.756 0.057 - 0.104 0.082 s
wAbE (HF) 0.072 0.023 - 0.041 0.032 s
— &b (SO2) 3.789 1.701 - 2.198 2.042 =
—&Ei% (CO) 3.789 0.026 - 0.090 0.059 =
HAY (NOx)
D= %AEE (NOY) 15.147 1.046 - 4.055 2.122 =
ETE
28 HERRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREHN (HET{LEFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0013 =
B EEE® 0.0378 <0.0057 e
IR R g ) 7.575x 10°° <6.385 x 1020 &
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20194 9 H
Y& BF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(A 2.277 0.002 - 0.045 0.004 &
LA 1.512 0.000 - 0.658 0.069 =
/L4, (HCI) 4,545 0.021 - 0.129 0.083 =
mIbE (HF) 0.306 0.004 - 0.065 0.024 =
— &b (SO2) 15.147 0.073 - 4.854 1.837 =
—4&bi% (CO) 7.578 0.000 - 0.130 0.032 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.419 - 5.973 1.645 =
s E
(b) [FFEEH - HI9ME (HEEHRENRGRER)
(A 0.756 0.002 - 0.008 0.004 &
LA 0.756 0.017 - 0.166 0.071 =
#F/bE (HCI) 0.756 0.045 - 0.115 0.082 s
wAbE (HF) 0.072 0.017 - 0.034 0.024 =
— &b (SO2) 3.789 1.382 - 2.204 1.835 =
—&Ei% (CO) 3.789 0.010 - 0.079 0.032 =
HAY (NOx)
D= %AEE (NOY) 15.147 0.807 - 3.026 1.669 =
ETE
28 HERRE® BEa=st R R
(kg/hr) (kg/hr) (/)
() FREHN (HET{LEFTER)
K 0.003789 <0.0004 =
S SE VAR 0.003789 <0.0015 =
B EEE® 0.0378 <0.0066 e
IR R g ) 7.575x 10°° <7.383 x 1020 &




TS RBR B R
YEF R EEE RS
2019 49 B

() EEGERELURE HRIER - BB Ry 101.325 kPa » sg iR Fat BA%E - LIRS
A& 11% RBSHEEIEIE -
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(iv) 1£ 6 2 8 /NEFHURIIAAYFH(E -



